Solucoes da ficha de exercicios 7
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b) u(x,y)=4x+3y v(x,y)=3x+4y+4
5. a) z=ln\/§+i%+2k7zi keZ

b) z=Qk+1)d keZz
o) z=2kr-In2+3)i kez
d) z=—kzr+km keZ
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8. a),b) Nao
10. z,=—-1-i e f'(z,)=-2-2i

11. f(z)=(1+é]z2+ic ceRe f()=02+i)

ou 1 ov
op poo
13. |Ou ov
0~ Pop

14.2) C b) C\{0}

15. u(x,y) =3xy> — x> =3x°y+ y°

k=0,12

fo =ic com ceR
16.
fi=x—y+ilx+y+c) com ceR

fo=x" =y +i2xy+¢) com ceR



17. v(x,y) =2xy—-3y+c com ceR
18. f(x+iy)=(-3x7y+y*)=iBxy> —x* =2) ou f(z)=(z>+2)i
19. b) v(x,y)=e" (xcos y+ yseny)+ c com ceR

o) f(z)=ize ™ +ic f'Q+i)=(1—i)e™"



